Your Name Printed Clearly! ] ~< 6 j

Justify all answers! Show all work for partial credit! You will get no credit for just
the answer. Note that different problems have different values. No calculators, no
notes. The formula sheet is page 6. .

EXAM 2 ¢ BOYLAND e MAP4305 ¢ SPRING 2019

1.(10 points) Find a fundamental mastrix for:
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2.(15 points)

(a) Find the general solution to

(b) Find the general solution to
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3.(10 points) Solve this equation on 0 <z < 7
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u(0,t) = u(m,t) =0
u(z,0) = 2sin 3z

u

(z,0) = —3sin 2z + 4sin5z

ot
\,U,An\/‘Q _ect%q“V{Q\A 0(:2) L:\rl . . - Q
Z qusmrn P00

DemBIx = =,

= "3/
Sp ~3° \02 UQ) / b2 )
= bs‘ (52 J 55’ 76—

Page 3 of 6 ‘ Total points this page out of 10




4.(15 points)

(a) Find the general solution
| = (1 A«
T\ 2 3

(b) Find the solution that satisfies the given initial condition
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5.(10 points) Compute thc Fourier sine series for f(z) = 1+ 2 on 0 <)(< 7. Note that your
coefficients must be numbers, so expressions like cosn7/2 are not allowed and must be evaluated

to a numerical value.
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